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1101 | K48 dbimE 250 2500 0 2500 10 0 0 0 1836 0 1512
EE 125 1250 0 1250 10 0 0 0 2052 0 1080
RE 40 600 0 600 15 0 0 0 0 1188 0
& 415 4350 0 4350
1141[54R BmE 4 8 0 8 2 0 0 0 0 1080 0
& 4 8 0 8
1201[83% % 60 900 0 900 15 0 0 0 0 1728 0
& 60 900 0 900
1203[F ¥Ry [HE 170 1700 0 1700 10 0 0 0 0 702 0
HE 50 750 0 750 15 0 0 0 0 1328 0
f=554 95 950 0 950 10 0 0 0 972 0 702
ED 315 3400 0 3400
1207[F& GH 800 80 80 0
1209 B & B 5 15 0 15 3 0 0 0 0 2160 0
(&) 5 15 0 15
1301 |FF EE 6 30 30 0 5 1188 0 810 0 0 0
=) 12 48 0 48 4 0 0 0 1944 0 1404
S 76 380 0 380 5 0 0 0 2700 0 1296
#mE 4 24 0 24 6 0 0 0 864 0 540
) 110 530 30 500
1311[k<+ (&) 45 180 0 180
1321 [HA R dLiEE 240 1200 0 1200 5 0 0 0 3240 0 2484
BiE 20 100 0 100 5 0 0 0 3240 0 3024
) 311 1630 0 1630
1331 [ M FEE® Gb 100 1000 0 1000
13651|E—<>  |[EE 900 135 0 135 0.15 0 0 0 92 0 86
x5 600 90 0 90 0.15 0 0 0 0 86 0
(&) 1680 248 0 248
1371 L1 x5 18 54 0 54 3 0 0 0 1836 0 1620
) 18 54 0 54
1411 [ &= Gb 125 63 63 0
1521|BF GH 3 30 0 30
1541 [E& EE 216 2160 0 2160 10 0 0 0 1782 0 864
Eh 216 2160 0 2160
1603|tz)L)— [E%H 10 100 0 100 10 0 0 0 3456 0 3024
Eh 10 100 0 100
16097 aval)  [dtiEE 90 720 0 720 8 0 0 0 3996 0 3888
f=1od 15 90 0 90 6 0 0 0 0 4104 0
(&) 105 810 0 810
1611[LAR R 10 50 0 50 5 0 0 0 2052 0 1836
=% 10 100 0 100 10 0 0 0 4104 0 3564
Eh 20 150 0 150
1612| 4 =L 2R |EH 10 50 0 50 5 0 0 0 0 1944 0
Eh 10 50 0 50
16272 =F<F |t BE 105 315 0 315 3 0 0 0 3672 0 2916
Gh 105 315 0 315
1705| &= = H 900 72 0 72 0.08 0 0 0 119 0 108
=40 3 12 0 12 4 0 0 0 0 5616 0
(&) 907 100 0 100
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1803 | EHEE =) 150 15 0 15 0.1 0 0 0 0 125 0
S 300 60 0 60 0.2 0 0 0 0 66 0
GhH 900 120 0 120
1807|8E E& 200 20 0 20 0.1 0 0 0 0 32 0
f=554 1350 270 0 270 0.2 0 0 0 70 0 62
E& 300 90 0 90 0.3 0 0 0 0 62 0
GhH 1850 380 0 380
1809[L&HL EF 250 25 0 25 0.1 0 0 0 0 49 0
f=554 2400 480 0 480 0.2 0 0 0 72 0 70
& 2650 505 0 505
* REET * 19758 32541 203 32338
2821 | |IEER EE 798 399 0 399 0.5 0 0 0 486 0 281
GhH 798 399 0 399
* S EEET * 1596 798 0 798




